BMSEE316 —kaRUEY

BHMEMFETORBEEZEMILONHH - BEAINOHLHE-BHE] (FF3EE)
(E+nl& x 10", 5 Z [EE+31% X 10000 EKTY S, )

HEH = (ke/ ) BENE (kg/HF)
#B3E . PN ﬁ&%
PR BERRE ko~ kg~ S0P B Tk~ mwn| gmE | BEE
DHEH | DHEH AR A T 85 DBRB=E| K =1 Ha
1 |dtiE
2 |EHE
3 |AFE
4 |EHE
5 (AR
6 IR
7 |fRBE 1.4E+0 14 1.2E+3 1,200.0 1,201.4
8 |ZWE
9 [WHARE
10 |HBER
1 [BEE 1.6E+0 1.6 1.7E+4 17,000.0 17,001.6
12 |TER
13 |HREER
14 |[#E)E
15 |FriRE
16 |[EWE 8.6E+3 8,600.0 8,600.0
17 |RIIE
18 |BHE
19 [ILEE
20 |RHE
21 (KBE
22 |E&mER 6.9E+1 69.0 69.0
23 |EBHR 1.5E+4 15,000.0 15,000.0
24 |ZER
25 |#HER 1.7E+3 1,700.0 1,700.0
26 |FARRT
27 | KBRAF 1.9E+1 19.2 5.7E+3 5,715.6 5,734.8
28 |EER
29 |ZRER
30 |FIFRLE
31 |BHRE
32 |BRE
33 |FWE
34 |LER
35 |lLOR 9.3E+3 9,300.0 9,300.0
36 |EER
37 |BIIR
38 |BER 5.6E+2 560.0 5.1E+4 51,000.0 51,560.0
39 |EER
40 |fERR 1.0E+5 104,000.0 104,000.0
41 [EER
2 |RIBER
43 |RERR
44 | KHR
45 |FIFER
46 |EEER
47 |[HiER
£ E 6.5E+2 651.2 2.1E+5 213,515.6 214,166.8
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